Solution to “Eleven” by Rose (Claremont Primary School, Tunbridge Wells)

Working Out E

I did the problem by first realizing that the highest possible value of T would be 9, so the highest possible value of L would be 18, and the E in the 100,000 column would be the carried 1. That meant I had worked out 7 of the 20 digits.

Working Out N

Assuming E was 1, I did the next part of the problem using trial and error. I assumed R was 0, therefore N would be 2 (1+1+0).

Working Out U

The only way 1+1+something else (E+E+U) could equal (or have a last digit of) 1 would be if it equalled 11 and the first digit was carried. 11-1-1=9 so U would have to be 9.

Working Out O and V

To work out O and V I used trial and error again. I assumed O was 3, which would mean V=4 because I knew R was 0 (0+0+3+the carried 1).

Working Out H and F

The last three columns had four numbers left they could be: 5, 6, 7, and 8. To work out the column H+H+F=E I realized no three numbers of which two are the same and one is different (that are not 0 or 1, as they are already represented by R and E) can equal 1, so they would have to equal 11 or 21 instead, and have the first digit carried. I worked out that 8+8+5=21, so I assumed H was 8 and F was 5, and I carried the 2.

Working Out T and L

The two remaining numbers were 6 and 7. 7+7+the carried 2 = 16, so I assumed T was 7 and L was 6 and carried the 1 from 16.
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